
Item No. Scratching Post Color Height 

44726 Bovina black/creme 141 cm

Pos. No. Description Measurement Quantity Item No.

Pos. 1 Baseplate ø 23.5 in.
(ø 60 cm) 1 44726-10

Pos. 2 Middle connecting plate ø 23.5 in.
(ø 60 cm) 1 44726-11

Pos. 3 Middle lying area ø 17.75 in.
(ø 45 cm) 1 44726-12

Pos. 4 Hammock ø 17.75 in.
(ø 45 cm) 1 44726-13

Pos. 5 Upper bed plate ø 23.5 × 6 in.
(ø 60 × 15 cm) 1 44726-14

Pos. 6 Post ø 4.25 × 11.5 in.
(ø 11 × 29 cm) 1 44726-20

Pos. 7 Post ø 4.25 × 11.75 in.
(ø 11 × 30 cm) 3 44726-21

Pos. 8 Post ø 4.25 × 23.5 in.
(ø 11 × 60 cm) 2 44726-22

Pos. 9 Rope 1 44726-30

Pos. 10 Cushion, top ø 23.25 in.
(ø 59 cm) 1 44726-40

Pos. 11 Cushion, middle ø 17.25 in.
(ø 44 cm) 1 44726-41

Pos. 12 Sisal scratch mat 1 44726-50

Pos. a Flatheat screw M0.25 × 2.25 in. 
(M8 × 60 mm) 2

44726-60

Pos. b Flatheat screw M0.25 × 1.50 in. 
(M8 × 40 mm) 2

Pos. c Flatheat screw M0.25 × 1.0 in. 
(M8 × 20 mm) 4

Pos. d Thread screw M0.25 × 3.00 in. 
(M8 × 80 mm) 4

Pos. e Washer 2

Pos. f Allen Key 1

180220 TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com 71033

Assembling Instruction & Parts List
#44726

Pos. e

1.

3.

2.

4.

1

E Advice
 This product should be assembled by an adult. 
 Please check the screws regularly and retighten 

them if necessary.

a a

c c
ee

bb

d

d

d

d

12

93

6

7 7

7

5

4

88

11

10

2

Pos. d

Pos. a

Pos. b

Pos. c

2 × 2 ×


